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1) odieneli FEwem U Y97 U W AW AHaEa: o |

Candidate must write first his / her Roll No. on the question paper
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2) | U A Em g | |
I
All the questions are compulsory. :
3) e U 1 IW & TE SW-Yfeaent § @ o | I
I
Write the answer to each question in the given answer-book only. (%/ |
I
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4) R\ Ut ° S @UE §, 39 A % W U @iy g o]

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) uyua o R @ el wuTr | foRet yeRr <t gt / o / ferienyme g R = v
U9 i TE AH|

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

6) U T 3R TS T IW Y vIsg Hm
1-10 1 20 915
11-19 2 40 313
20 -26 4 100 915
27,29 6 150 vreg

28 7 150 915

Q. Nos. Marks per Question Word limit of Answer

1-10 1 20 words
11-19 2 40 words
20 -26 - 100 words
27,29 6 150 words

28 7 150 words

7) O G 30 Ui S 9 Heit g 3 5 iR w g |
Question No. 30 is related to map-work carrying § marks.
8) v w24 7 27 ¥ 29 dk H Hiafes faeeu § |

There are internal choices in Question Nos. 24 and 27 to 29.
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1) & 3 ugeAuet & T feRa e [Va+Ys =1]
Write the names of any two Mahajanpadas.

2) dam - enfie wnan? [1]
What was the Diwan-i-Ariz?

3) kA o SgeTaTdl g o Tehegl Ql EweieRt & AT Fargd| [Va+Ys =1]
Write the name of any two supporters of the pluralistic theory of democracy.

4) gOWE FEILINT UGS A A A A T REER ¥? [Vt =1]
Which states are partner in Tungabhadra multipurpose project?

5) Scdted | T AW 22 [1]
What is meant by production?

6) deiaek e i TRl g1 nifafafermt o am foRam) [V2+Y =1]
Name any two activities of tertiary sector.

7) ifa smEn w1 WS U wE EdE| [1]
State any one function of NITI Aayog.

8) win ftm ggn whifa fordl wha §2 [1]
What is demand driven inflation?

9) et % geesh o ffgared @ 27 [1]
What is the implication of the vicious cycle of poverty?

10) wiee SRR o/ 3 7
What is seasonal unemployment? [1]

11) U= TT o GEIHE @1 o AT {SUEet & Jq1 & U H A9 D — i § HE w7 HE a
= ferRa) [1+1=2]
As a chiefminister of a state, which functions will you perform in the role of leader
of the legislative assembly. Write any two.
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12) ufvend T o fiew Bg | 991 oA o TEH & =18 A ATavashal Hi gid & fore sm fem
e TSIl SRl SUTNT o Tl 3 7 36 STet Tl | aior dveredt shig 91 feroremmd fofam) [ 1+4+%4=2]
Which water source can you use in western Rajasthan to meet the requirement of
water in summer season after drying up of rain water? Write any two characteristics
related to construction of such water source.

13) <Imae Scate % foru qrom wam aut gt savaes qum fofau) [1+1=2]
Write the necessary conditions related to temperature and rainfall for the production
of rice.

14) b=t - [ = g=ht -11 | gafea fifm [Vat+YatYatYs = 2]

T - | = - 11
(FTA & THR) (hTel <Rt AEN)
) fegima ) 35|50%
q) fermmse i) 15&35%
q) dre i)  80® 90%
3) U iv) 75@80%
Match the list - I with list - II

List-1 List - 1T
(Types of coal) (Quantity of carbon)
a) Bituminous )  35t050%
b) Lignite ) 15to035%
c) Peat i) 80 to 90%
d) Anthracite iv) 75to 80%

15) @S & qufig Mot 76§ wsferat @l mA | FoH & ot s im | 3 sur gemEn 2 [1+1= 2]

Which two measures will you suggest to save fish in Gomati river near Lucknow?
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16) TR | wiferent fien @i s 37 % fo1e =eTE s @ e =R A faRem)

[VatVotlatls = 2]
Write any four schemes being run to promote girl education in Rajasthan.

17) 3etie & " & hig uR fag feiRam) [Va+VatVatls = 2]

Write any four points to establish the importance of internet.

18) TR T T TTeTeh g ShiTE! AT sl SHT <iU ? whig =R foifan)

[Vat+atats = 2]

What precautions should be taken by a driver at the time of driving a vehicle?
Write any four.

19) sl & Rl 3t TRl @ 3g@ Fifu) [1+1= 2]

Mention any two types of sanitation.

20) ‘NHEET UE ‘UTHUEEET © 39 TR THE @ ? T Shifiu| [2+2 = 4]
What do you understand by ‘Dhammayatra’ and ‘Dhamm-Mahamatra’?Clarify.

21) UZRIUT YaTq <Rl e A o foTu areher A SRIT-a—N e ST ? [4]
What steps Akbar had taken for the subordinations of Maharana Pratap?

22) I UPETE % fhgl IR HROT @1 3g@ Hhifu| [1+1+1+1 = 4]
Describe any four reasons for the Nationalism in Europe.

23) 3T TAha~ il A%eTal o ford ferm 91 uftfearfomt =it srarvaes wmd 2 2 g el

[2+2 = 4]

Which two conditions are essential for the success of democracy according to
you. Explain.
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24) AR HNEEAT ht TR T & T | fohel TR forawanatt o i Sl [1x4 = 4]

Describe any four characteristics of Indian Economy as an undeveloped economy.
et / OR

TR ¥ FHATS el o’ ATHI Rl TwEst| [1x4 = 4]

Explain any four advantages of Swadeshi.

25) WRT % TRYURTA a1 R — TEAWTA &t § 9 FifTu) [2+2 = 4]
Distinguish between institutional and non-institutional sources of credit.

26) 3MUH FTAR IUHITH i T | TA o 10 fofmt Tt ot urel e Tige?  [1x4 = 4]
According to you what duties should be followed by a consumer in order to avoid
the loss?

27) TSRAM | fRAM STEIeH o oI hIR0T 91 ? TR o foRegl gt Tohd STrgiei R SRt Sifer|

[2+2+2 = 6]
What were the causes for the Peasant’s Movements in Rajasthan? Throw light on
any two Peasant’s Movements of Rajasthan.
gtgan / OR
FrfeRea w wfem vttt fafeu) [2+2+2 = 6]
) T SIS I
i) fgeita stvemE 39
i) e TR
Write short notes on the following.
1)  First Anglo - Maratha War
1) Second Anglo - Maratha War
i) Govind Guru
S—08-Social Science 5004
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WRA & TLTHE <k 1 UG VhAl 1 9UH hifetd|

28) [7]
Describe the powers and functions of the Prime Minister of India.
gear/OR
TIEHT o 1 TS VTRl Sl AU i | [7]
Describe the powers & functions of the Rajya Sabha.
29) TeguTe i e wiftrat R feeemn Aik@- [3+3 = 6]
i) wEufeteRt wiferal
i) faemh et
Explain the following powers of the Governor-
1)  Executive powers
i) Legislative powers
gear/OR
I AT | et e gt Fi e Rike- [3+3 = 6]
) arEnshe 6 i o e
i) S e f WA & o gaentie gaem
Explain the following points related to the High court-
1)  Appointment and qualifications of the judges
i)  Constitutional arrangements for the independence of the High - court.
30) 2 ™ ura & aEfa @ sifea ;- [5x1 = 5]
) A,
q) e SR TR g,
|q)  rm,
3) fufEma
a) T
Mark the following in the given outline map of India
a) Ahmedabad,
b) Dadraand Nagar Haveli,
c) Agra,
d) Sikkimand
e) Delhi
Q00O
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